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/ 10.4 Other Similarities
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1) Find the indicated measurement given that the segment is an angle bisector.
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Find moUST if mz 2 =36°.
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2) Find the indicated measurement given that the segment is a median.
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¢) Find x if GF = 2x ~ 1 and CF = >~
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L ; . . - et - imilar triangles.
Angle Bisector Similarity: An angle bisector in a triangle divides the triangle into two similar triang,
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3) Find the indicated length.
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Paraliel Line Similarity: A line parallel to one side of the triangle 3p e triangle into two similar triangles.

3) Find the missing length indicated.
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4) Solve for x.
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Right Triangle Similarity: The altitude (height) of a right triangle splits the triangle into a set of 3 similar
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4) Find the missing length indicated.
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